

Weyl's Theorem for Algebraically M^* Quasi Paranormal Operators

V.Mallika, Assistant Professor, Department of Mathematics, Sri Ramakrishna College of Arts & Science for Women, Coimbatore.mallikavissnu@gmail.com

Dr. D. Senthilkumar, Associate Professor, Department of Mathematics, Government Arts College, Coimbatore.senthilsenkumhari@gmail.com

Abstract:

In this paper, a new operator M^* quasi paranormal operator is introduced and studied. A bounded linear operator J in a Hilbert space H is said to be a M^* quasi paranormal operator if it satisfies $\|J^{*2}x\|^2 \leq M \|J^3x\| \cdot \|Jx\|$, for each $x \in H$, where M is a real positive number. We shall deal with the characteristics of M^* quasi paranormal operator & establish the result as $M^2J^{*3}J^3 - 2\lambda J^2J^{*2} + \lambda^2J^*J \geq 0$, for each $\lambda > 0$. Furthermore, we discuss algebraically M^* quasi paranormal operator and its properties. It is also demonstrated that Weyl & Weyl type theorems hold for algebraically M^* quasi paranormal operators.

Key Words:

M^* quasi paranormal operator, Algebraically M^* quasi paranormal operator, Weyl's theorem.

M^* Quasi Paranormal Operator

Main Result: 1.1

An operator $J \in B(H)$ is M^* quasi paranormal iff

$$M^2J^{*3}J^3 - 2\lambda J^2J^{*2} + \lambda^2J^*J \geq 0, \forall \lambda > 0$$

Proof

Let J be M^* quasi paranormal, for a fixed real +ve M ,

$$\|J^{*2}x\|^2 \leq M \|J^3x\| \cdot \|Jx\|, \forall x \in H$$

Then

$$\|J^{*2}x\|^2 - M \|J^3x\| \cdot \|Jx\| \leq 0$$

$$4 (\|J^{*2}x\|^2)^2 - 4M^2\|J^3x\|^2 \|Jx\|^2 \leq 0$$

From the properties of real quadratic forms,

$$\lambda^2\|Jx\|^2 - 2\lambda\|J^{*2}x\|^2 + M^2\|J^3x\|^2 \geq 0, \forall x \in H, \forall \lambda > 0$$

$$\lambda^2\langle J^*Jx/x \rangle - 2\lambda\langle J^2J^{*2}x/x \rangle + M^2\langle J^3J^3x/x \rangle \geq 0, \forall x \in H, \forall \lambda > 0$$

Hence,

$$M^2 J^{*3}J^3 - 2\lambda J^2J^{*2} + \lambda^2 J^*J \geq 0, \forall x \in H, \forall \lambda > 0$$

Theorem:1.2

Suppose that $J \in B(H)$ is a M^* quasi paranormal operator. If J is unitarily equivalent to R , then R is known as M^* quasi paranormal.

Proof:

Let J be unitarily equivalent to R , \exists an unitarily operator U such that $R = U^*JU$. We must show that $M^2R^{*3}R^3 - 2\lambda R^2R^{*2} + \lambda^2R^*R \geq 0$

$$\because J \text{ is of } M^* \text{ quasi paranormal, we have } M^2J^{*3}J^3 - 2\lambda J^2J^{*2} + \lambda^2J^*J \geq 0$$

$$\text{So, } M^2R^{*3}R^3 - 2\lambda R^2R^{*2} + \lambda^2R^*R \geq 0$$

$$\Rightarrow M^2(U^*J^*U)(U^*J^*U)(U^*J^*U)(U^*JU)(U^*JU)(U^*JU) - 2\lambda(U^*JU)(U^*JU)(U^*J^*U)(U^*J^*U) + \lambda^2(U^*J^*U)(U^*JU) \geq 0$$

$$\Rightarrow M^2[U^*J^*J^*J^*JJJU] - 2\lambda[UJJJ^*J^*U^*] + \lambda^2[U^*J^*JU] \geq 0$$

$$\text{Hence, } U^*[M^2U^*J^{*3}J^3 - 2\lambda J^2J^{*2} + \lambda^2J^*J]U \geq 0$$

$\therefore R$ is M^* quasi paranormal.

Theorem:1.3

If $J \in B(H)$ is a weighted shift operator on H with non zero weight $\delta_k (k = 0, 1, 2, \dots)$. When J is M^* quasi paranormal operator iff $|\delta_k|^2 \leq M|\delta_{k+1}||\delta_{k+2}|$ where M is a real positive and $k=1, 2, \dots$

Proof:

Take $\{\delta_k\}_{k=0}^\infty$ is an orthonormal basis of H .

Considering, $Je_k = M\delta_k e_{k+1}$ & $J^{*2}e_k = M\bar{\delta}_{k-1} e_{k-1}$, then

$$\begin{aligned} \|J^{*2}e_k\|^2 &= \|J(M\delta_k e_{k+1})\|^2 \\ &= M|\delta_k|^2 \|J^{*2}e_{k+1}\|^2 \\ &= M|\delta_k|^2 |\bar{\delta}_{k-1}|^2 \|e_k\|^2 \end{aligned}$$

$$= M|\delta_k|^4$$

$$\text{And } \|J^3 e_k\| \|J e_k\| = M|\delta_k|^2 |\delta_{k+1}| |\delta_{k+2}|$$

Thus, $\|J^{*2} x\|^2 \leq M \|J^3 x\| \|J x\|$ for each vector $x \in H$ iff $\|J^{*2} e_k\|^2 \leq M \|J^3 e_k\| \|J e_k\|$ for every $k = 1, 2, \dots$

Hence, J is of M^* quasi paranormal operator iff $|\delta_k|^2 \leq M |\delta_{k+1}| |\delta_{k+2}|$, where $k = 1, 2, \dots$

2. Weyl's Theorem for Algebraically M^* Quasi Paranormal Operators

Weyl's theorem is most important property studied by number of Mathematicians around the world. In this section it is shown that Weyl & Weyl type theorem holds for algebraically M^* quasi paranormal operators. If J is an algebraically M^* quasi paranormal operator for real +ve integer M , then J is nilpotent, Polaroid, Reguloid, Isoloid and single valued extension property are discussed.

Introduction:2.1

- ❖ Let $N(J)$ & $R(J)$ be the Null space & Range of J , where $J \in B(H)$
- ❖ Let $\alpha(J) = \dim N(J)$, $\beta(J) = \dim N(J^*)$
- ❖ Let $\sigma(J)$, $\sigma_P(J)$ and $\sigma_A(J)$ be the Spectrum, Point Spectrum & approx Point Spectrum of J .
- ❖ If $J \in B(H)$ has closed range, not an infinite dimensional null space & its range has not an infinite co dimension then it is known as Fredholm.
- ❖ The index of a Fredholm is $i(J) = \alpha(J) - \beta(J)$. J is known as Weyl when it is Fredholm of index 0 & Browder when it is Fredholm of not infinite descent & ascent.
- ❖ Weyl spectrum $\sigma_w(J) = \{ \lambda \in C : J - \lambda \text{ is not Weyl} \}$
Let $\Pi_{00}(J) = \{ \lambda \in \text{iso}\sigma(J) : 0 < \alpha(J - \lambda) < \infty \}$

Theorem:2.2

If J be a M^* Quasi Paranormal, $\lambda \in C$, when $\sigma(J) = \{\lambda\}$, then $J = \lambda$.

Proof:

Let us consider the 2 cases as follows:

Case:(1): λ equal to 0

If J is paranormal, then J is normaloid,

$$\therefore J = 0$$

Case:(2): λ not equal to 0

Here J is invertible & since J is paranormal, J^{-1} is also paranormal.

$\therefore J^{-1}$ is normaloid.

On the contrary, $\sigma(\mathcal{J}^{-1}) = \left\{ \frac{1}{\lambda} \right\}$

Thus, $\|\mathcal{J}\| \|\mathcal{J}^{-1}\| = |\lambda| \left| \frac{1}{\lambda} \right| = 1$

\mathcal{J} is convexoid using [1, Lemma 3]

So, $\mathbb{W}(\mathcal{J}) = \{\lambda\}$,

$\therefore \mathcal{J} = \lambda$.

Hence, $\mathcal{J} = \lambda$

Lemma:2.3

Let $\mathcal{J} \in B(H)$ be \mathcal{M}^* quasi paranormal.

When $\lambda \in \sigma_p(\mathcal{J}) - \{0\}$, then $\lambda \in \sigma_p(\mathcal{J}^*)$

Thus, \mathcal{J} be an algebraically \mathcal{M}^* quasi paranormal when \exists not a constant complex polynomial p , $\exists p(\mathcal{J})$ is also \mathcal{M}^* quasi paranormal operator.

Lemma:2.4

If \mathcal{J} is a \mathcal{M}^* quasi paranormal & P is an invariant subspace of \mathcal{J} , then G/P is \mathcal{M}^* quasi paranormal where \mathcal{M} is a positive real number.

Theorem:2.5

Let \mathcal{J} be algebraically \mathcal{M}^* quasi paranormal where \mathcal{M} is positive real value and $\sigma(\mathcal{J}) = \{\lambda\}$, then $\mathcal{J} - \lambda I$ be nilpotent.

Proof

When \mathcal{J} is an algebraically \mathcal{M}^* quasi paranormal \exists not a constant polynomial $p(g) \ni p(\mathcal{J})$ be \mathcal{M}^* quasi paranormal for non negative real \mathcal{M} ,

By *Theorem 2.2*

$\sigma(p(\mathcal{J})) = p(\sigma(\mathcal{J})) = \{p(\lambda)\} \Rightarrow p(\mathcal{J}) - p(\lambda)I$ be nilpotent.

Let $p(z) - p(\lambda) = a(Z - \lambda_0)^{k_0}(Z - \lambda_1)^{k_1} \dots (Z - \lambda_t)^{k_t}$ where $\lambda_j \neq \lambda_s$ when $j \neq s$.

For some non negative integer l ,

$$0 = (p(\mathcal{J}) - p(\lambda_0)I)^l = a(\mathcal{J} - \lambda_0 I)^{lk_0}(\mathcal{J} - \lambda_1 I)^{lk_1} \dots (\mathcal{J} - \lambda_t I)^{lk_t}$$

Since $\mathcal{J} - \lambda_1 I, \mathcal{J} - \lambda_2 I, \dots, \mathcal{J} - \lambda_t I$ are invertible, $(\mathcal{J} - \lambda_0 I)^{lk_0} = 0$.

Hence, $\mathcal{J} - \lambda I$ is nilpotent.

Lemma:2.6

Let J be a quasi nilpotent algebraically M^* quasi paranormal, then J is nilpotent.

Proof

Let $P(J)$ be a M^* quasi paranormal for few non constant polynomial P .

When $\sigma(p(J)) = p(\sigma(J))$, then $p(J) - p(\sigma)$ be a quasi nilpotent.

Then *Theorem 2.2* would imply that

$$CJ^m(J - \lambda_1), (J - \lambda_2), \dots (J - \lambda_n) = p(J) - p(\sigma) = 0 \text{ for } m \geq 1.$$

As $J - \lambda_i$ is invertible $\forall \lambda$ not equal to 0 implies that $J^m = 0$

Hence, J is nilpotent.

Lemma:2.7

If J is invertible & quasi nilpotent algebraically M^* quasi paranormal, then J is nilpotent.

Proof

Let $p(J)$ be a M^* quasi paranormal for few non constant polynomial p .

As $\sigma(p(J)) = p(\sigma(J))$, then $p(J) - p(0)$ be quasi nilpotent.

By *Theorem 2.2*,

$$CJ^m(J - \lambda_1) (J - \lambda_2) (J - \lambda_3) \dots (J - \lambda_n) = p(J) - p(0) = 0 \text{ for } m \geq 1$$

Thus $J - \lambda_i$ is invertible $\forall \lambda_i \neq 0$ & hence $J^m = 0$

Theorem:2.8

If J is an algebraically M^* quasi paranormal for non negative real number M , then

$$\sigma_{ea}(f(J)) = f(\sigma_{ea}(J)) \quad \forall f \in H(\sigma(J))$$

Proof:

By [2], the inclusion $\sigma_{ea}(f(J)) \subseteq f(\sigma_{ea}(J))$ holds $\forall f \in H(\alpha(J))$ without conditions on J .

We have to prove $f(\sigma_{ea}(J)) \subseteq \sigma_{ea}(f(J))$.

When $\lambda \in f(\sigma_{ea}(J))$ then $f(J) - \lambda I$ is upper semi Fredholm with index ≤ 0

Also, $f(J) - \lambda I = c (J - \Psi_1 I) (J - \Psi_2 I) \dots (J - \Psi_n I) g(J)$, where $g(J)$ be invertible &

$$c, \Psi_1, \Psi_2, \dots, \Psi_n \in \mathbb{C} \text{ [3]}$$

Let J be an algebraically M^* quasi paranormal, when \exists a non constant polynomial $p(g) \ni p(J)$ is

M^* quasi paranormal. Since $p(J)$ has *SVEP* & thus J has *SVEP*.

$$\therefore \lambda = f(\Psi_i) \notin f(\sigma_{ea}(\mathcal{J})).$$

Hence, $f(\sigma_{ea}(\mathcal{J})) = \sigma_{ea}(f(\mathcal{J}))$

Theorem:2.9

Let \mathcal{J} be an algebraically \mathbb{M}^* quasi paranormal for non negative real \mathbb{M} , then \mathcal{J} is *isoloid*.

Proof:

Assume that $\lambda \in iso \sigma(\mathcal{J})$ & associated Riesz Idempotent as $P = \frac{1}{2\pi i} \int_{\partial D} (\mu - \mathcal{J})^{-1} d\mu$ here D is a closed disc with λ as center it does not contain other points of $\sigma(\mathcal{J})$.

Let us denote \mathcal{J} as, $\mathcal{J} = \begin{pmatrix} \mathcal{J}_1 & 0 \\ 0 & \mathcal{J}_2 \end{pmatrix}$, for $\sigma(\mathcal{J}_1) = \{\lambda\}$ and $\sigma(\mathcal{J}_2) = \sigma(\mathcal{J}) / \{\lambda\}$

As \mathcal{J} be algebraically \mathbb{M}^* quasi paranormal, $p(\mathcal{J})$ be \mathbb{M}^* quasi paranormal for some non constant polynomial p .

When $\sigma(\mathcal{J}_1) = \{\lambda\}$, then $\sigma(p(\mathcal{J}_1)) = p(\sigma(\mathcal{J}_1)) = p(\{\lambda\})$.

$\therefore p(\mathcal{J}_1) - p(\lambda)$ is quasi nilpotent.

As $p(\mathcal{J}_1)$ be \mathbb{M}^* quasi paranormal, by theorem 2.2 implies $p(\mathcal{J}_1) - p(\lambda) = 0$

Let $q(z) = p(z) - p(\lambda)$, when $q(\mathcal{J}_1) = 0$ & thus \mathcal{J}_1 be algebraically \mathbb{M}^* quasi paranormal operator.

When $\mathcal{J}_1 - \lambda$ be quasi nilpotent & algebraically \mathbb{M}^* quasi paranormal, then from theorem 2.5,

$\mathcal{J}_1 - \lambda$ is nilpotent.

$\therefore \lambda \in \Pi_0(\mathcal{J}_1)$ & thus $\lambda \in \Pi_0(\mathcal{J})$

Hence, \mathcal{J} is *isoloid*.

Theorem: 2.10

Let \mathcal{J} be an algebraically \mathbb{M}^* quasi paranormal for non negative real \mathbb{M} , then \mathcal{J} is *Polaroid*.

Proof:

Let \mathcal{J} be algebraically \mathbb{M}^* quasi paranormal. When $P(\mathcal{J})$ is \mathbb{M}^* quasi paranormal for non constant polynomial P .

As $\lambda \in \sigma(\mathcal{J})$, we can represent $\mathcal{J} = \mathcal{J}_1 \oplus \mathcal{J}_2$ where $\sigma(\mathcal{J}_1) = \{\lambda\}$ and $\sigma(\mathcal{J}_2) = \sigma(\mathcal{J}) / \{\lambda\}$

Since \mathcal{J}_1 is algebraically M^* quasi paranormal, $\mathcal{J}_1 - \lambda$ is algebraically M^* quasi paranormal.

But $\sigma(\mathcal{J}_1 - \lambda) = \{0\}$, from theorem 2.5 $\mathcal{J}_1 - \lambda$ is nilpotent, $\mathcal{J}_1 - \lambda$ has finite descent & ascent.

Since $\mathcal{J}_2 - \lambda$ is invertible and hence it has finite descent & ascent.

$\therefore \mathcal{J} - \lambda$ has finite descent & ascent and thus λ corresponds to a pole in the resolvent operator of \mathcal{J} .

Thus, $\lambda \in \text{iso } \sigma(\mathcal{J})$ gives $\lambda \in P_0(\mathcal{J})$ & then $\text{iso } \sigma(\mathcal{J}) \leq P(\mathcal{J})$

Hence, \mathcal{J} is Polaroid.

Corollary:2.11

Let \mathcal{J} be an algebraically M^* quasi paranormal for non negative real M , then \mathcal{J} is Reguloïd.

Theorem:2.12

If \mathcal{J} is an invertible algebraically M^* quasi paranormal, then \mathcal{J} is isoloid.

Proof:

Let $\lambda \in \text{iso } \sigma(\mathcal{J})$ & the associated Riesz idempotent $P = \frac{1}{2\pi i} \int_{\partial D} (\mu - \mathcal{J})^{-1} d\mu$, here D is a closed disc

with λ as center which does not contain other points of $\sigma(\mathcal{J})$.

Let us denote \mathcal{J} as, $\mathcal{J} = \begin{pmatrix} \mathcal{J}_1 & 0 \\ 0 & \mathcal{J}_2 \end{pmatrix}$ where $\sigma(\mathcal{J}_1) = \{\lambda\}$ & $\sigma(\mathcal{J}_2) = \sigma(\mathcal{J}) / \{\lambda\}$

As \mathcal{J} is algebraically M^* quasi paranormal, $p(\mathcal{J})$ is M^* quasi paranormal for not a constant polynomial p .

As $\sigma(\mathcal{J}_1) = \{\lambda\}$, $\sigma(p(\mathcal{J}_1)) = p(\sigma(\mathcal{J}_1)) = \{p(\lambda)\}$.

Thus, $p(\mathcal{J}_1) - p(\lambda)$ will quasi nilpotent.

Hence, $p(\mathcal{J}_1)$ is M^* quasi paranormal, using Theorem 2.2, $p(\mathcal{J}_1) - p(\lambda) = 0$

Let $q(z) = p(z) - p(\lambda)$

When $q(\mathcal{J}_1) = 0$ & thus \mathcal{J}_1 is algebraically M^* quasi paranormal.

$\therefore \mathcal{J}_1 - \lambda$ is quasi nilpotent & algebraically M^* quasi paranormal, from Theorem 2.5 implies that

$\mathcal{J}_1 - \lambda$ is nilpotent.

$\therefore \lambda \in \Pi_0(\mathcal{J}_1)$ & thus $\lambda \in \Pi_0(\mathcal{J})$

Hence, \mathcal{J} is isoloid.

Theorem:2.13

If \mathcal{J} is an algebraically \mathcal{M}^* quasi paranormal then \mathcal{J} has SVEP.

Proof:

Let \mathcal{J} be \mathcal{M}^* quasi paranormal.

When $\Pi_{00}(\mathcal{J}) = \phi$, then \mathcal{J} has SVEP.

Assume, $\Pi_{00}(\mathcal{J}) \neq \phi$.

If $\Delta(\mathcal{J}) = \{ \lambda \in \Pi_{00}(\mathcal{J}) : \mathcal{N}(\mathcal{J} - \lambda) \subseteq \mathcal{N}(\mathcal{J}^* - \bar{\lambda}) \} \Rightarrow \Delta(\mathcal{J}) \neq \phi$.

Let us take \mathcal{M} (i.e. the closure of the linear span of the subspaces), $\mathcal{N}(\mathcal{J} - \lambda)$ for $\lambda \in \Delta(\mathcal{J})$.

When \mathcal{M} reduced as \mathcal{J} & then $\mathcal{J} = \mathcal{J}_1 \oplus \mathcal{J}_2$.

Clearly, \mathcal{J}_1 is normal and $\Pi_{00}(\mathcal{J}_2) = \phi$.

Since, both \mathcal{J}_1 and \mathcal{J}_2 have SVEP, then \mathcal{J} has SVEP.

If \mathcal{J} is algebraically \mathcal{M}^* quasi paranormal, then $p(\mathcal{J})$ is \mathcal{M}^* quasi paranormal for few non constant polynomial p .

As, $p(\mathcal{J})$ has single valued extension property, by [6, Theorem 3.3.9] \mathcal{J} has single valued extension property.

Theorem:2.14

Let \mathcal{J} be algebraically \mathcal{M}^* quasi paranormal then Weyl's theorem holds for \mathcal{J} .

Proof:

Let $\lambda \in \sigma(\mathcal{J}) \setminus w(\mathcal{J})$. Thus $\mathcal{J} - \lambda$ is Weyl & not an invertible,

To prove $\lambda \in \partial_\sigma(\mathcal{J})$.

As, λ is an interior pt of $\sigma(\mathcal{J})$, Then \exists a nbd U of λ , $\exists \dim \mathcal{N}(\mathcal{J} - \mu) > 0$, for every $\mu \in U$.

Using [7, Theorem 10], \mathcal{J} does not have SVEP.

Furthermore, $\because p(\mathcal{J})$ is \mathcal{M}^* quasi paranormal for few nonconstant polynomial p , from theorem 2.13, $p(\mathcal{J})$ has SVEP which is contradictory.

$\therefore, \lambda \in \partial_\sigma(\mathcal{J}) \setminus w(\mathcal{J})$ & using the punctured neighbourhood theorem $\lambda \in \pi_{00}(\mathcal{J})$.

On the contrary, let $\lambda \in \pi_{00}(\mathcal{J})$.

From $E = \frac{1}{2\pi i} \int_{\partial D} (\mu - \mathcal{J})^{-1} d\mu$ for λ , denote \mathcal{J} as $\mathcal{J} = \begin{pmatrix} \mathcal{J}_1 & 0 \\ 0 & \mathcal{J}_2 \end{pmatrix}$

where $\sigma(\mathcal{J}_1) = \{\lambda\}$ & $\sigma(\mathcal{J}_2) = \sigma(\mathcal{J}) \setminus \{\lambda\}$.

Let us consider the following 2 cases.

Case: (i) λ equal to 0

Then J_1 is algebraically M^* quasi paranormal & quasi nilpotent. J_1 is nilpotent using (Lemma 2.6)

To prove $\dim R(E) < \infty$.

Let $N(J_1)$ be not a finite dimensional, then $0 \notin \pi_{00}(J)$ which is contradictory.

$\therefore J_1$ is not an infinite dimensional space $R(E)$ operator. From this J_1 is Weyl.

But, as J_2 is invertible, consider as J is Weyl.

$\therefore, 0 \in \sigma(J) \setminus w(J)$.

Case: (ii) λ is not equal to 0

From 2.5, $J_1 - \lambda$ is nilpotent.

$\therefore \lambda \in \pi_{00}(J)$, $J_1 - \lambda$ is operator on not an infinite dimensional space $R(E)$.

Thus, $J_1 - \lambda$ is Weyl.

$\therefore J_2 - \lambda$ is invertible, $J - \lambda$ is Weyl.

From both the cases, Weyl's theorem holds for J .

Theorem:2.15

If J is an algebraically M^* quasi paranormal then Weyl's theorem holds for $f(J)$

$\forall f \in H(\sigma(J))$.

Proof:

Let $f \in H(\sigma(J))$. As it generally holds $M(f(J)) \subseteq f(M(J))$, it is sufficient to prove

$f(M(J)) \subseteq M(f(J))$ for all $f \in H(\sigma(J))$

If $\lambda \notin M(f(J))$, then $f(J) - \lambda$ is Weyl &

$$f(J) - \lambda = \mathbb{L}(J - \alpha_1)(J - \alpha_2)(J - \alpha_3) \dots (J - \alpha_n) g(J) \text{ -----(1)}$$

where $c, \alpha_1, \alpha_2, \alpha_3 \dots \alpha_n \in \mathbb{C}$ & $g(J)$ is invertible, as the RHS of the above are commute,

for all $J - \alpha_i$ is Fredholm.

As \mathcal{J} is algebraically \mathcal{M}^* quasi paranormal then \mathcal{J} has SVEP by lemma 2.7.

From [5, Theorem 2.6], $\text{ind}(\mathcal{J} - \alpha_i) \leq 0, \forall i = 1, 2, \dots, n$.

Thus $\lambda \notin f(\mathcal{M}(\mathcal{J}))$ & so $f(\mathcal{M}(\mathcal{J})) = \mathcal{M}(f(\mathcal{J}))$

Using [8], that if \mathcal{J} is isoloid, then

$f(\sigma(\mathcal{J})) \setminus \Pi_{00}(\mathcal{J}) = \sigma(f(\mathcal{J})) \setminus \Pi_{00}f(\mathcal{J})$ for every $f \in H(\alpha(\mathcal{J}))$

As, \mathcal{J} is isoloid from 2.12 & Weyl's theorem holds for \mathcal{J} from 2.14,

$\sigma(f(\mathcal{J})) \setminus \Pi_{00}f(\mathcal{J}) = f(\sigma(\mathcal{J})) \setminus \Pi_{00}(\mathcal{J}) = f(\mathcal{M}(\mathcal{J})) = \mathcal{M}(f(\mathcal{J}))$

Hence, proved the theorem.

Corollary:2.16

Let \mathcal{J} be an algebraically \mathcal{M}^* quasi paranormal for non negative real \mathcal{M} , then

$\mathcal{M}(f(\mathcal{J})) = f(\mathcal{M}(\mathcal{J}))$ for every $f \in H(\sigma(\mathcal{J}))$

Corollary:2.17

Suppose \mathcal{J} is algebraically \mathcal{M}^* quasi paranormal then $\sigma_{\mathcal{M}}(f(\mathcal{J})) = f(\sigma_{\mathcal{M}}(\mathcal{J}))$ for every $f \in H(\sigma(\mathcal{J}))$.

References:

1. W.Mlak, Hyponormal Contractions, Colloq. Math 18 (1967), 137 – 141
2. V.Rakocevic, Approximate point spectrum and commuting compact perturbations, Glasgow Math.J.28(1986), 193 – 198
3. M.Berkani, Index of B-Fredholm operators and generalization of a Weyl theorem, Proc. Amer. Math. Soc. 130 (2002), 1717 – 1723
4. M.Berkani, Index of B-Fredholm operators and poles of the resolvent, J.Math.Anal.Appl.272 (2002), 596 – 603
5. M.Berkani and A.Arround, Generalised Weyl's theorem and hyponormal operators, J. Austra. Math. Soc. 76 (2004), 291 – 302
6. K.B.Laursen and M.M.Neumann, An introduction to Local spectral theory, London

Mathematical Society Monographs. New Series, 20. The Clarendon Press, Oxford University Press, New York, 2000.

7. J.K.Finch, The Single Valued Extension Property on a Banach Space, *Pacific J.Math.* 58 (1975), 61 – 69
8. W.Y.Lee and S.H.Lee, A spectral mapping theorem for the Weyl spectrum, *Glasgow Math. J.* 38 (1996), 61 – 64